
FORMULAS and CONSTANTS for EXAM II     
 
e = 1.6 × 10-19 C         k=1/4πεο = 9 × 109 Nm2/C2        εο = 8.85 × 10-12 C2/Nm2        
 
µo = 4π × 10-7 T m/A        c = 3.00 × 108 m/s  1 Tesla (T)  = 104 Gauss (G)          
 
 me =9 × 10-31 kg         mp = 1.7 × 10-27 kg 
 
I = ∆q/∆t             V = IR                P = IV     =    I2R     =   V2/R       
 
P =(1/2) IoVo  =   IrmsVrms        Vrms = Vo/ 2         Irms = Io/ 2           Vrms  = IrmsR  
 
F = qo(v sinθ) B         r = mv/qB          F = ILB sin θ    
 
Blong wire = µoI / 2πr         Bcenter of a circular loop = N µo I / 2 R         Bsolenoid = µo  n I       
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==               V = Vo sin(2πft) 
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==  Intensity = S =  c uEM  =  c εoE2  =  (c/µο)Β2 
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v = c/n   n1 sin θ1  = n2 sin θ2  sin θc = n2/n1  (n1 > n2) 


